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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more

circles will result in zero mark in that question.
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1. 1. The latest method of vegetative propagation is

layering £/ (D) cloning _&¥ (©) graffing % (B) cutting & (A)

2. The cells forming cartilage are called -;_),TLU«.-( }-’J_hi.h@ﬁjb’ b
osteoblast ok (B) osteocytes B (A)

melenocytes S ke (D) chondrocytes Oa 7 1 (C)

3. Inhuman, number of spinal nerve pairs is ..:;_-_.gmlﬁc/.,.-.‘ﬁ Z-s)fig-ufw'i-;f -3
31 (D) 33 (C) 32 (B) 30 (A)

4. Myelin sheath is secreated by cells - K Sk S3 .,-;f -4
red blood i, (D) white blood &2y (C) dendrites L,-"""u}.;:i (B) schwann  @i¥ (A)

5 Plants store large amount of water in their cells for ,a‘_--ru,-f,;':._.-':-5’;;5»‘?;’-,'J',“-e.",;\,'-/.}';.,fil-’;.'.'_. -5
photosynthesis f?ir (D) turgidity Jig/' (C) guttation ujff (B) transpiration ._-,‘—FEJ-'/‘ (A)

6. In cigarette smoke . number of carcinogens is -5 L}mfﬁd,g)’-mfuﬁuffﬁﬁ_‘a/a -6
.45 (D) 40 (C) 30 (B) 50 (A)

7. Sir Alexander Flamming was awarded Noble Prize in eIt e 74&"/ -7
- 1960 AD (D) + 1950 A.D (C) + 1945 AD (B) + 1940 AD (A)

8. Which enzyme is used to desolve blood clots ? ‘e tw 12 S S PR LS Aviy L8
urckinase ):‘Jb’,ug (D) tripson U '(C) pepsin ¥ (B) ypase mlU (A)

9. Since 1800 A.D, the amount of o, inreased in -gsf;z;wu’ 2T J.'jgbb’ e 1800 -9

atmosphere is
50% (D) 40% (C) 30% (B) 20% (A)
10.  Alternate forms of a gene are called S LB 10

genotype _*t ¢ (D) loci J¢ (©) alleles #1 (B) trait <o/ (A)

11. DNA molecule wraped around the protein is ool AL wﬁ':{;ﬂljggt (PR

casin -;,:"-f (D) fibrinogen (/> A6
The unit of androecium is

ovary (sl (D) style  Je  (C)

(C) haemoglobin ¥ (B)

histone y# (A)
e bt 2K 12
o L

Yk

stamen (A)

(B)
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Note : Section I is compulsory. Attempt any Two questions from Section 1I.

(Section - | (J3l2)

2. Write short answers to any Five Parts : (5x2=10) -iém.}lx/‘-yf_'iméﬁaﬂljf
i. What is the difference between stomata and lenticels? &_‘.J}l l,-,‘:,f;cL’ {5’? sl Loy

il. How the voice of our conversation is produced? T’..;_..;:lmé;d_’ J-';TJJEJJJJM

iii. Write the name of two parts of renal corpuscle. Ly 0 LK

iv. Define guttation. -Z:‘_“.:..Jf/‘jd/;,’;-""d

v Whatis meant by renal tubule? Sl Ve Jnd f

vi- How does coordination in unicellular organisms take place? ‘-‘;_}x:;ff'dbfyﬁfus, W My

vii What is the difference between receptors and response? e 2 '»:'/ v':u;:c 2 A
viii. Whatis meant by positive feedback mechanism? =3 .-{zg}_ P oo =2
3. Write short answers to any Five Parts : (5x2=10) ‘Z‘:::.-.-;Il/:?ﬁofzféga.(j/
Define ca-uiaze  Write name of its two types. WL ,-,-,}/\;i ot ﬁﬁ_yffffu’

i Define antagonism. -:;_‘S_g/b?;;f%'
i Define fragmentation and give an example. =2 .";Jl‘} ol ’é':r...éi/‘b(;,-"-%,j

iv. Define pollination and cross pollination. ‘_5 -,:‘_'.;Jj"‘;_,(c,réfd{_' U’Lf Il V’-'us

v. Differentiate between epicotyle and hypocotyl, _'.i;'-.‘._-;y\:‘," \,-'JJI'L‘{_{'?,.--’ ,-”';::"-'\,;1:

vi. Whatare two sources of variations? ?L,gc_.u:@-bs wleld
vii. State Mendel's Law of Independent Assortment. LBt LT ) K S
sl Define Co-Dominance. _’;“‘:l_g/"'gfu’?“/s- S
4. Write short answers to any Five Parts: (5x2=10) _:af::a;rzﬁ"ﬁrlzléga.df
i What is meant by ecosystem? : e e !}’:‘L/f

i Define biomass. __";_.t z'-';’;..v,_'-',
li. Write the name of two types of fermenters. _@f:',; LS o s
v. Write some uses of aspergillus. LE ey U’?‘J;JQ'
v. What are synthetic drugs? el <
vi. Define antibodies. _?_‘_—(Hg/‘if zjgdf:f
vii. Write the name of two narcotics drugs. St st 5
i Define antigens. -E AL g
(Section - 11, - ¢» )
(Each question carries Nine (4 +5=9) marks (27 (4+5=9) J L Jirr)
S.(a) Write in detail the types of dialysis. -.:ﬁf.:'_u‘:‘-”l;ﬁf ._,’ Lis
(b) Write disorders of eye. How can these be removed? e o o o Ao
5.(a) Describe arthritis and its types. -a_{;;g;u! J‘: @ AT
(b} /natis germination of seed? Explain its types o uﬂt‘»_—,»ug-/r,i'd:?? ._:_:l/lzfa,u’“-‘?jd’i/
with examples.

7.{a) What s meant by water pollution? Describe its effects. S g | feslpve j,'vl

{b) Describe the scope and importance of biotechnology ,fe_.‘-fu'_v. =l .(;uﬁ;_}ii. il .;f'_ﬁa./.(._db)c,f.ig v,

in the field of medicine and environment
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Note - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. The flower of the plant in which pollination occurs through - dx .,-,Uif—fﬂoa'd{tfd:%' & by I-1 A
wind is
: 5 #
water lily J# (D) sunflower d’ffwr (C) grass Jud (B) rose o (A)
2. Which one is the middle part of carpel. —lc-#t}_b’» {LJ:/K -2

ovary (s (D) stigma W © syle Je (B)  filament wx$ (A)

3. Example of ball and socket joints is _q.JL‘AJfLZ S Jy -3
hip joints Fld S (B) skull joints SlaLl gy A)
knee joints Sl (D) elbow joints J"'LZL@'( (C)

4. Which one is not included in the symptoms of diabetes mellitus? _;J:fJﬁuCaLLkJﬂ!!-,’ﬁyi -4
tredness - 0% 73 (B)  weakening of muscles s / J/V (A)

P = oy LN o -
ossof wight” |~ iz (D) difficulty inbreathing  =hidu (C)

*» €

v o et K v " 3 - - S B . .
5. Which hormone inc?asg,s‘thewevel of chleilm ions in blood? 'i'a‘;.t'lﬁf::ﬂﬁd/ 7 I(.'L{ﬂu? Ui v .5

W

B AN 5
paralhormonie/;,'nf’ 4+ (D) insuline S (C) adrenaline c,al:;u:f (B) thyroxin U";db‘ (A)

T

LY q * - -, =
6. Which thing1s reastAK by thé descending fmb of ¢ e Qe e poieidel S&IT o 6
SR

loop 0!) eple? 5
f,-f’ , ) ?ﬂa 3 g kst (D) water dk (C) glucose A (B) salts .-;,L,G (A)
A /!

3 air;pfers into _q_aﬁfb Pl T
/ b3
‘¢, (D) trachea t;,f} (C) oesophagus u’?ﬂr (B) pharynx 2 (A)

8. Which antibiotic is bactericidal? ‘e dnd¥L §EE AT 8
sulpha drugs s ul (B) tetracycline Sz »
thiazide 5L (D)  cephalosporins S (C)
9. To preserve pickle, fruits and vegetables, these are ‘q..tigguﬁui'é:.”i_/’l-é"fugz s U« el 9
mixed with
onion and garlic u’”’ sl (B) water and yogurt gl dlr. (A)
flour and salt L oatT (D) saltand acid Palclt (6
10. The smallest unit in ecological organization is _c‘...;wlb%’;..,fuﬁug'/’mfdéﬁ':{ .10

ecosystem (7 %1 (D)  community & © species ZU% (B)  population u’{g",_ (A)

11. Which one is an example of discontinuous variations? _q_JfJJ_—,f,é"’.JJ//f -1
height 5 (D) blood groups 4/ & (C)  inteligence =43 (B)  weight s (A)

12. In law of independent assortment ratio of phenotype is -‘;_R;Jﬁ_ftifui%rlc.;};d}l T U 212
g7 Fizd: 3 (B 8:3:3:1 (C) 953522 (B) 9535153 (A)
118-218- 14000 WWW
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Note : Section I is compulsory. Attempt any Two questions from Section 1I.

(Section - | Jil»)

2. Write short answers to any Five Parts : (5x2=10) —Zﬁmkl'?/“’t’:»'méﬁétjf -2
i. What is meant by cellular respiration? Seop U et Mo i
ii. Write bad effects of smoking. B et il M i
iii. What is osmosis? el e g il
iv. Define halophytes with an example. e s ZE Sk v
v. Write the name of four parts of urinary system. L2 g Ly v
vi. Define response. Give an example. el £ éi-’/“"urflét’i -vi
Vi, E_'xplain brain stem. -é-:—”l&}t,(:o:/. ~Vii
viii. Describe any two causes of epilepsy. kel JJIJJ/ - viii
3. Write short answers to any Five Parts : (5x2=10) -’émglz/‘-’t.izl&ge.éf -3
i. Differentiate between endoskeleton and exoskeleton. ‘gi_'ug&)u‘.'g;"&;rfl » u“""ej-:' -l
ii. Where are fixed joints found? S sy uL{;f’L? 1A i
iii. How does fregmentation take place? ‘L;.Jm%f S5 i
v. Whatis double fertilization? ; ‘.‘.:__g,_fu”—;fur’/Us -iv
v. What are STDs ? Write name of one STD. ,a’.ﬁrtﬁ STD I Syt STDs -v
vi. What are nucleosomes? St e i
vii. Differentiate between genotype and phenotype. SZEULIAAE FUE i
viii. Write the name of " Darwin's" book. ' -érw.,,fﬂfwu!i —viii
4. Write short answers to any Five Parts: .( 5x2=10) _&m.gz/‘”&tzléga.ﬁ -4
i. Define parasitism. Eu A v
i. Define food chain and food web. Sy | SR Y VRE- 17 M
iii. Define biotechnology. E o LENedy i
iv. What is fermenter? e VRY L
v. Write two uses of formic acid. e WAL
vi. Define pharmacology and pharmacy. uéﬁf&fw s EH6 i
vii. What are Hallucinogens? I 5 ke il
viii. Describe the uses of fermenter. B L g3 i

(Section - 11, - (1 oA)

(Each guestion carries Nine (4 +5=9 ) marks 1/ (4+5=9) J ZJivz)

5.(a) Describe the function of human kidney. “Euk S¥ S (a)-5
(b) How does the process of hearing take place in ear? Explain it. _é;aus? q.rﬂ(‘zlsc)ff ¥ é‘.:.;,r.?ua’ (b)

6. (a) Define joints and explain the types of joints. 2,"-—4-?1-3&; rUil L}/sf*"{:?ﬂf‘f-f—{n-é’/‘-’-tf-‘-;ff (a) -6
(b) Describe four methods of natural vegetative'propagation, -’c_{c}‘l‘géf.‘..}’ ,gf.c)’-;,{ %J;ﬁ {b)

7. (a) Define ecosystem. Describe its biotic components in detail. &k 4121 EF L “Ew I @) -1
(b) Describe in detail basic steps in genetic engineering. ke J Sy GBLE Z162 (b)



